
TC 250 2023 <2023><EU><F2301W1>
CLUTCH COVER

60382

Pos Part Number Description Additional Text Quantity

1 A44030001044 Clutch cover, inner, cmpl. 1.00

2 A44030025000 Clutch cover gasket, inner 1.00

3 0402040980 Needle roll.DIN5402 NRB 4X9.8 2.00

4 0625006087 Grooved ball bearing 608 2RS C 1.00

5 A48030626000JA Clutch cover outside 1.00

6 A48030027000 Clutch cover gasket external 1.00

7 0025060106 HH collar screw M6x10 TX30 1.00

8 0603061001 CU-SEAL RING DIN7603-6X10X1 1.00

10 79430020033 Oil filler cap cmpl. M24x3 1.00

11 0770191015 O-RING 19,00X3,00 NBR 1.00

12 0025060606 HH collar screw M6x60 TX30 5.00

13 0025060256 HH collar screw M6x25 TX30 8.00

14 0025060406 HH collar screw M6x40 TX30 2.00


